2x#5 19 11x208%
. B 7S 2690 | o 5 -
M N
0 & N
4
() 0] )%‘ i *‘%— _
[Q\
2x ¢ 11
£K2/20 90
=
Dyyvs 48 90 ©
_ 5 2x¢5 o
i f S ‘Tew . 42,
91 91 23 { - —
[@N| |
< 5 3 LI
<R Ev2y 4 L "0
_|_|N ] /l \2X ¢ 11 T (
T4 Fxvey THBE (S=1/5
3
00 >
N M
T N
N 50_ 31 15,5
| 9]3»6
RaN
¥
A
L0
/ IEEN
Ex2750 1 x=Y W2438 Zx 2750 _ij“/l
/\
27
Z
= T4 788 (S=1/5)
5
2 @27
> (Xvv7) A5 =V K74+ (WG103) Bk
2600 "~ AvY-vhr-% | HMEB:AF-N
147874 12 (B2IC65-B0MEY)
7 AR5 b | NTSCs47(4:3)
cIMTRE. PMBRUREYEFTEY 2T, " 7 v 3y |BEE7NIKy 2R AL—280X
Ty 7
f % | RoHSHIE&
T SR &R wt DATE B4
: — 1
QS ﬁiﬂﬁ*iﬂ T A FgHAs) -y CtlLoyay SMC—120VM—1 A3 /20 mm [2015/09 | #&ETEN




